BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024

LJA ENGINEERING, INC.
A. GUIJOSA
AUGUST 30, 2024

BIDDER'S NAME

TOTAL AMOUNT BID

3141-3001 & 3141-3002 (9.2)

BID INCLUDING MONTGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS

1) LEXTON CONSTRUCTION, LLC	\$1,921,672.35	\$2,877,093.05
2) TEXASITE, LLC	\$1,927,941.00	\$1,927,941.00
3) BLAZEY CONSTRUCTION SERVICES LLC	\$1,981,440.03	\$3,044,322.63
4) R CONSTRUCTION CIVIL, LLC	\$2,104,816.30	\$3,245,273.10

CALENDAR DAYS 75/85

I, Kenya Franco, PE, hereby certify these bid tabulations to be true and correct.

KENYA FRANCO

R. 141387

CENSEO

SONAL ENGRE

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024 LJA ENGINEERING, INC. A. GUIJOSA

AUGUST 30, 2024 3141-3001 & 3141-3002 (9.2)

20,002,00		_	1) LEXTON CONSTRUCTION, LLC		2) TEXASIT	2) TEXASITE, LLC		3) BLAZEY CONSTRUCTION SERVICES LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
MONTGOMERY COUNTY M.U.D. NO. 146B WATER ITEMS									
1 LONG SIDE DOUBLE OR SINGLE SERVICE, WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, TAPS, AND SCHEDULE 40 PVC ENCASEMENT, COMPLETE IN PLACE	LF	484	\$30.00	\$14,520.00	\$36.00	\$17,424.00	\$43.00	\$20,812.00	
2 8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	919	\$43.00	\$39,517.00	\$42.00	\$38,598.00	\$49.00	\$45,031.00	
3 8" RESTRAINED JOINT PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, INCLUDES ALL FITTINGS, VALVES AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, ALL DEPTHS, COMPLETE IN PLACE	LF	58	\$41.00	\$2,378.00	\$76.00	\$4,408.00	\$51.00	\$2,958.00	
4 10" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1714	\$58.00	\$99,412.00	\$54.00	\$92,556.00	\$61.00	\$104,554.00	
5 10" RESTRAINED JOINT PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, INCLUDES ALL FITTINGS, VALVES AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, ALL DEPTHS, COMPLETE IN PLACE	LF	260	\$60.00	\$15,600.00	\$116.00	\$30,160.00	\$72.00	\$18,720.00	
6 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	8	\$5,875.00	\$47,000.00	\$6,733.00	\$53,864.00	\$6,100.00	\$48,800.00	
7 2" BLOW-OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	5	\$725.00	\$3,625.00	\$977.00	\$4,885.00	\$730.00	\$3,650.00	
8 PLUG AND CLAMP (ALL SIZES AND DEPTHS), COMPLETE IN PLACE	EA	5	\$480.00	\$2,400.00	\$331.00	\$1,655.00	\$430.00	\$2,150.00	
9 TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	ĹF	3435	\$0.01	\$34.35	\$1.00	\$3,435.00	\$0.11	\$377.85	
MONTGOMERY COUNTY M.U.D. NO. 146B WATER ITEMS SUBTOTAL:				\$224,486.35		\$246,985.00		\$247,052.85	
MONTGOMERY COUNTY M.U.D. NO. 146B SANITARY SEWER ITEMS									
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	723	\$49.00	\$35,427.00	\$51.00	\$36,873.00	\$48.00	\$34,704.00	
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1108	\$51.00	\$56,508.00	\$55.00	\$60,940.00	\$50.00	\$55,400.00	
3 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	162	\$53.50	\$8,667.00	\$57.00	\$9,234.00	\$55.00	\$8,910.00	
4 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 16' - 20' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1272	\$57.00	\$72,504.00	\$64.00	\$81,408.00	\$64.00	\$81,408.00	
5 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 20" - 24" CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	599	\$71.00	\$42,529.00	\$69.00	\$41,331.00	\$72.00	\$43,128.00	
6 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 24' - 28' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	139	\$88.00	\$12,232.00	\$84.00	\$11,676.00	\$90.00	\$12,510.00	
7 STANDARD 4' DIAMETER SANITARY SEWER MANHOLE (0' – 10' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	9	\$3,650.00	\$32,850.00	\$3,422.00	\$30,798.00	\$3,600.00	\$32,400.00	
8 STANDARD 5' DIAMETER SANITARY SEWER MANHOLE (10' - 20' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	16	\$6,000.00	\$96,000.00	\$5,278.00	\$84,448.00	\$5,400.00	\$86,400.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024 LIJA ENGINEERING, INC. A. GUIJOSA

				1) LEXTON CONST	RUCTION, LLC	2) TEXAS	ITE, LLC	3) BLAZEY CONSTRUC	TION SERVICES LLC
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
9	EXTRA DEPTH FOR 5' DIAMETER SANITARY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PLACE	VF	143	\$325.00	\$46,475.00	\$423.00	\$60,489.00	\$390.00	\$55,770.00
10	STANDARD 6' DIAMETER SANITARY SEWER MANHOLE (20' + DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	9	\$8,355.00	\$75,195.00	\$7,714.00	\$69,426.00	\$9,100.00	\$81,900.00
11	EXTRA DEPTH FOR 6' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	155	\$680.00	\$105,400.00	\$423.00	\$65,565.00	\$550.00	\$85,250.00
12	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, STACK, WYE, PLUG, MARKER, ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	6	\$2,050.00	\$12,300.00	\$1,603.00	\$9,618.00	\$1,750.00	\$10,500.00
13	STANDARD SANITARY SEWER DROP CONNECTION (ALL DEPTHS), COMPLETE IN PLACE	EA	2	\$1,235.00	\$2,470.00	\$692.00	\$1,384.00	\$1,900.00	\$3,800.00
14	ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, INCLUDES CEMENT STABILIZED SAND BACKFILL, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00	\$100.00	\$200.00	\$4,100.00	\$8,200.00
15	TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4003	\$1.00	\$4,003.00	\$1.00	\$4,003.00	\$0.11	\$440.33
16	8" PVC FORCEMAIN, AWWA C-900, DR-18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2414	\$36.50	\$88,111.00	\$42.00	\$101,388.00	\$44.00	\$106,216.00
17	2" AIR RELEASE VALVE ASSEMBLY FOR SANITARY SEWER INCLUDES SERVICE MANHOLE, VENT PIPING, COMPLETE IN PLACE	EA	2	\$6,950.00	\$13,900.00	\$6,554.00	\$13,108.00	\$14,400.00	\$28,800.00
18	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2414	\$1.00	\$2,414.00	\$1.00	\$2,414.00	\$0.11	\$265.54
19	8" PLUG AND CLAMP (ALL DEPTHS), COMPLETE IN PLACE	EA	2	\$212.00	\$424.00	\$446.00	\$892.00	\$220.00	\$440.00
MON	TGOMERY COUNTY M.U.D. NO. 146B SANITARY SEWER ITEMS SUBTOTAL:				\$710,409.00		\$685,195.00		\$736,441.87
MON	TGOMERY COUNTY M.U.D. NO. 146B STORM SEWER ITEMS								
1	$24^\circ$ RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1655	\$90.80	\$150,274.00	\$84.00	\$139,020.00	\$83.00	\$137,365.00
2	$30^\circ$ RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	882	\$112.50	\$99,225.00	\$109.00	\$96,138.00	\$105.00	\$92,610.00
3	$36^\circ$ RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	215	\$169.00	\$36,335.00	\$159.00	\$34,185.00	\$146.00	\$31,390.00
4	$54^\circ$ RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	270	\$345.00	\$93,150.00	\$353.00	\$95,310.00	\$340.00	\$91,800.00
5	5'X4' R.C. BOX STORM SEWER, ASTM C-1433, INCLUDING ANY BENDS, ALL DEPTHS, COMPLETE IN PLACE	LF	296	\$503.00	\$148,888.00	\$502.00	\$148,592.00	\$476.00	\$140,896.00
6	$5^{\circ}\!$	LF	203	\$523.00	\$106,169.00	\$554.00	\$112,462.00	\$512.00	\$103,936.00
7	STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, INCLUDES FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	25	\$3,125.00	\$78,125.00	\$3,596.00	\$89,900.00	\$3,600.00	\$90,000.00
8	STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	4	\$3,685.00	\$14,740.00	\$5,104.00	\$20,416.00	\$5,700.00	\$22,800.00

AUGUST 30, 2024

3141-3001 & 3141-3002 (9.2)

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

9 EXTRA 8" AWWA GATE VALVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE EA DIRECTION OF THE ENGINEER), COMPLETE IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024 LJA ENGINEERING, INC. A. GUIJOSA

	OB NO.		0.	000 . 00 01 0002 (0	/				
				1) LEXTON CONST	RUCTION, LLC	2) TEXASITE	E, LLC	3) BLAZEY CONSTRUCT	TON SERVICES LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
9	REINFORCED CONCRETE JUNCTION BOX WITH TYPE "C" MANHOLE TOP, COMPLETE IN PLACE	EA	2	\$13,190.00	\$26,380.00	\$21,576.00	\$43,152.00	\$17,000.00	\$34,000.00
10	MANHOLE TOP FOR BOX CULVERT, COMPLETE IN PLACE	EA	2	\$3,100.00	\$6,200.00	\$580.00	\$1,160.00	\$2,350.00	\$4,700.00
11	STAGE I - STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C"), ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	20	\$1,415.00	\$28,300.00	\$1,856.00	\$37,120.00	\$2,300.00	\$46,000.00
12	STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	20	\$2,040.00	\$40,800.00	\$1,856.00	\$37,120.00	\$2,000.00	\$40,000.00
13	STAGE I - STANDARD 15' REINFORCED CONCRETE PRECAST INLET ("C"), ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	4	\$1,660.00	\$6,640.00	\$2,088.00	\$8,352.00	\$2,500.00	\$10,000.00
14	STAGE II – STANDARD 15' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	4	\$3,200.00	\$12,800.00	\$4,060.00	\$16,240.00	\$2,950.00	\$11,800.00
15	PRECAST OR CAST IN PLACE STAGE 1 AND STAGE 2 TXDOT AREA ZONE DRAIN STYLE "FG" 4'X4', COMPLETE IN PLACE	EA	1	\$4,750.00	\$4,750.00	\$5,220.00	\$5,220.00	\$4,800.00	\$4,800.00
16	8" BRICK PLUG, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	EA	1	\$450.00	\$450.00	\$678.00	\$678.00	\$770.00	\$770.00
17	18" THICK RIP RAP PER DETAILS IN CONSTRUCTION PLANS, COMPLETE IN PLACE	SY	27	\$150.00	\$4,050.00	\$128.00	\$3,456.00	\$107.00	\$2,889.00
18	PRECAST SAFETY END TREATMENT PER TXDOT STANDARDS, 6:1 SLOPE, COMPLETE IN PLACE	EA	2	\$3,700.00	\$7,400.00	\$1,856.00	\$3,712.00	\$4,500.00	\$9,000.00
19	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	3521	\$1.00	\$3,521.00	\$1.00	\$3,521.00	\$0.11	\$387.31
MONT	GOMERY COUNTY M.U.D. NO. 146B STORM SEWER ITEMS SUBTOTAL:	-			\$868,197.00		\$895,754.00		\$875,143.31
MON	GOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS								
1	STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00	\$200.00	\$200.00	\$2,200.00	\$2,200.00
2	UTILITY SPOILS (ESTIMATED QUANTITY OF 6,250 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LS	1	\$27,115.00	\$27,115.00	\$4,500.00	\$4,500.00	\$15,400.00	\$15,400.00
3	STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$1,392.00	\$1,392.00	\$2,750.00	\$2,750.00
4	FURNISH PERFORMANCE, PAYMENT AND MAINTENANCE BONDS PER CONTRACT DOCUMENTS, COMPLETE IN PLACE	LS	1	\$22,350.00	\$22,350.00	\$34,800.00	\$34,800.00	\$33,000.00	\$33,000.00
5	EXTRA CEMENT STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED ONLY AT THE DIRECTION OF ENGINEER), COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$15.00	\$150.00	\$44.00	\$440.00
6	DEWATERING FOR UTILITY LINES, ALL LINES SIZES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	2500	\$20.00	\$50,000.00	\$20.00	\$50,000.00	\$20.00	\$50,000.00
7	EXTRA WATER LINE FITTINGS, COMPLETE IN PLACE	TON	0.1	\$1,000.00	\$100.00	\$1,000.00	\$100.00	\$2,750.00	\$275.00
8	EXTRA 6" AWWA GATE VALVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$800.00	\$800.00	\$1,300.00	\$1,300.00

AUGUST 30, 2024 3141-3001 & 3141-3002 (9.2)

\$800.00

\$1,900.00

\$1,900.00

\$800.00

\$800.00

\$800.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024 LIJA ENGINEERING, INC. A. GUIJOSA

2) TEXASITE, LLC

3) BLAZEY CONSTRUCTION SERVICES LLC

AUGUST 30, 2024 3141-3001 & 3141-3002 (9.2)

1) LEXTON CONSTRUCTION, LLC

				1) LEXTON CONS	TRUCTION, LLC	2) TEXASI	TE, LLC	3) BLAZEY CONSTRUC	HON SERVICES LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	EXTRA COST OF SANITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1	\$5.00	\$5.00	\$5.00	\$5.00	\$13.00	\$13.00
	EXTRA COST OF STORM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$17.00	\$1,700.00
	EXTRA COST OF WET SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	100	\$50.00	\$5,000.00	\$50.00	\$5,000.00	\$50.00	\$5,000.00
	EXTRA HYDRO-MULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,400.00	\$2,400.00
	EXTRA BROADCAST SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$450.00	\$450.00	\$450.00	\$450.00	\$880.00	\$880.00
	EXTRA REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$3.00	\$300.00
	EXTRA FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$2.00	\$200.00
	EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$10.00	\$10.00	\$10.00	\$10.00	\$44.00	\$44.00
18	DUST CONTROL, INCLUDES PROCUREMENT OF WATER, COMPLETE IN PLACE	LS	1	\$5,500.00	\$5,500.00	\$100.00	\$100.00	\$5,000.00	\$5,000.00
MONT	GOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS SUBTOTAL:				\$118,580.00		\$100,007.00		\$122,802.00
MONT	GOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS								
	ROADWAY, ROW AND LOT EXCAVATION, INCLUDES FINAL GRADING, COMPLETE IN PLACE	CY	3700	\$4.00	\$14,800.00	\$0.00	\$0.00	\$4.60	\$17,020.00
	ROADWAY, ROW AND LOT EMBANKMENT, INCLUDES REMOVAL OF UNSUITABLE MATERIAL BEFORE PLACING FILL, DEMUCKING AS NEEDED, STRIPPINGS, PROOF ROLLING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, REAPPLICATION OF STRIPPINGS, AND FINAL GRADING, COMPLETE IN PLACE	CY	3700	\$2.00	\$7,400.00	\$0.00	\$0.00	\$4.50	\$16,650.00
	6" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	12398	\$51.90	\$643,456.20	\$0.00	\$0.00	\$50.50	\$626,099.00
	6" STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	13996	\$3.60	\$50,385.60	\$0.00	\$0.00	\$5.00	\$69,980.00
	HYDRATED LIME FOR STABILIZED SUB-GRADE (16 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	112	\$385.00	\$43,120.00	\$0.00	\$0.00	\$390.00	\$43,680.00
	FLY ASH FOR STABILIZED SUB-GRADE, (42 LB PER SQUARE YARD) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	294	\$140.00	\$41,160.00	\$0.00	\$0.00	\$143.00	\$42,042.00
7	PROPOSED PAVING HEADER, COMPLETE IN PLACE	LF	84	\$15.00	\$1,260.00	\$0.00	\$0.00	\$29.00	\$2,436.00
8	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	715	\$3.50	\$2,502.50	\$0.00	\$0.00	\$5.30	\$3,789.50
9	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	6267	\$3.50	\$21,934.50	\$0.00	\$0.00	\$5.30	\$33,215.10
	ADA COMPLIANT TYPE 7 CONCRETE CURB RAMP PER DETAIL, INCLUDES TRUNCATED DOME PAVERS, COMPLETE IN PLACE	EA	10	\$1,500.00	\$15,000.00	\$0.00	\$0.00	\$2,000.00	\$20,000.00

Page 5 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024 LJA ENGINEERING, INC. A. GUIJOSA

AUGUST 30, 2024 3141-3001 & 3141-3002 (9.2)

<del></del>			1) LEXTON CONST	RUCTION, LLC	2) TEXASITE	E. LLC	3) BLAZEY CONSTRUC	TION SERVICES LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
11 PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$9,625.00	\$9,625.00	\$0.00	\$0.00	\$10,300.00	\$10,300.00
12 INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$1,100.00	\$3,300.00	\$0.00	\$0.00	\$1,450.00	\$4,350.00
13 1-1/2" ASPHALTIC CONCRETE PAVEMENT, TYPE D, PER TXDOT STANDARD DETAILS, INCLUDES 6" CEMENT TREATED BASE, COMPLETE IN PLACE	SY	405	\$71.50	\$28,957.50	\$0.00	\$0.00	\$168.00	\$68,040.00
14 CONNECTION TO EXISTING ASPHALT CONCRETE PAVEMENT, INCLUDING 2' SAW CUT, FULL DEPTH OF EXISTING PAVEMENT FOR FM 1486 CONNECTION, INCLUDES REMOVAL AND DISPOSAL OF EXISTING PAVEMENT, SUGRADE AND DISPOSAL FEES, COMPLETE IN PLACE	LF	130	\$13.00	\$1,690.00	\$0.00	\$0.00	\$38.00	\$4,940.00
15 TEMPORARY TRAFFIC CONTROL FOR PAVEMENT CONNECTION AT INTERSECTION OF WILDTREE DRIVE AND FM 1486, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$0.00	\$0.00	\$4,300.00	\$4,300.00
16 EXTRA SIGN, COMPLETE IN PLACE	EA	1	\$680.00	\$680.00	\$0.00	\$0.00	\$1,050.00	\$1,050.00
17 6° PVC SLEEVES, SCHEDULE 40, UNDER PROPOSED PAVEMENT, PER DETAIL ON SHEET 3, COMPLETE IN PLACE	LF	373	\$24.00	\$8,952.00	\$0.00	\$0.00	\$53.00	\$19,769.00
18 BLUE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	8	\$15.30	\$122.40	\$0.00	\$0.00	\$19.00	\$152.00
19 STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$2,575.00	\$2,575.00	\$0.00	\$0.00	\$2,750.00	\$2,750.00
20 CLEARING AND GRUBBING, CLEARED MATERIAL TO BE HAULED OFFSITE, AND SUBMITTAL OF SCALE TICKETS TO ENGINEER WITH PAY APPLICATIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$10,000.00	\$10,000.00	\$0.00	\$0.00	\$12,200.00	\$12,200.00
21 REGRADING OF TXDOT DITCH, COMPLETE IN PLACE	LF	300	\$7.00	\$2,100.00	\$0.00	\$0.00	\$19.00	\$5,700.00
22 KEYSTONE HARDSCAPES CARRIAGE STONE BRICK PAVERS, AS SHOWN ON SHEET 29 OF THE CONSTRUCTION PLANS, INCLUDES PAVE STONES, SAND FILLED JOINTS, SAND AND BASE, COMPLETE IN PLACE	SF	2000	\$11.00	\$22,000.00	\$0.00	\$0.00	\$15.30	\$30,600.00
23 PRE-CAST OR CAST IN PLACE HEADWALL FOR 30" RCP WITHIN ESPANADE OF WILDTREE DRIVE, INCLUDES SEAL SLAB, AND BEDDING AND BACKFILL, COMPLETE IN PLACE	EA	2	\$2,100.00	\$4,200.00	\$0.00	\$0.00	\$2,850.00	\$5,700.00
24 METAL BEAM GUARD FENCE, PER TXDOT DETAILS, COMPLETE IN PLACE	LF	70	\$180.00	\$12,600.00	\$0.00	\$0.00	\$66.00	\$4,620.00
25 ADDITIONAL COST TO EXTEND ADA COMPLIANT TYPE 7 RAMP TO 8' WIDTH, COMPLETE IN PLACE	EA	6	\$850.00	\$5,100.00	\$0.00	\$0.00	\$2,250.00	\$13,500.00
MONTGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS SUBTOTAL:				\$955,420.70		\$0.00		\$1,062,882.60
BIDDING SUMMARY								
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 146B WATER ITEMS				\$224,486.35		\$246,985.00		\$247,052.85
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 146B SANITARY SEWER ITEMS				\$710,409.00		\$685,195.00		\$736,441.87
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 146B STORM SEWER ITEMS				\$868,197.00		\$895,754.00		\$875,143.31
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS				\$118,580.00		\$100,007.00		\$122,802.00
TOTAL AMOUNT BASE BID				\$1,921,672.35		\$1,927,941.00		\$1,981,440.03
MONTGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS								
TOTAL AMOUNT BASE BID				\$1,921,672.35		\$1,927,941.00		\$1,981,440.03
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS				\$955,420.70		\$0.00		\$1,062,882.60
TOTAL AMOUNT INCLUDING MONTGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVI	ı			\$2,877,093.05		\$1,927,941.00		\$3,044,322.63

LJA Engineering, Inc. Page 6 of 11

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024
LJA ENGINEERING, INC.
A. GUIJOSA
AUGUST 30, 2024
3141-3001 & 3141-3002 (9.2)

4) R CONSTRUCTION CIVIL, LLC

				4) IN CONSTRUCTION	CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
MON	TGOMERY COUNTY M.U.D. NO. 146B WATER ITEMS				
1	LONG SIDE DOUBLE OR SINGLE SERVICE, WATER SERVICE INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, TAPS, AND SCHEDULE 40 PVC ENCASEMENT, COMPLETE IN PLACE	LF	484	\$33.00	\$15,972.00
2	8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	919	\$50.00	\$45,950.00
3	8° RESTRAINED JOINT PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, INCLUDES ALL FITTINGS, VALVES AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, ALL DEPTHS, COMPLETE IN PLACE	LF	58	\$90.00	\$5,220.00
4	10" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1714	\$55.00	\$94,270.00
5	10" RESTRAINED JOINT PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235, INCLUDES ALL FITTINGS, VALVES AND ALL RESTRAINED JOINTS FOR PIPE JOINTS, ALL DEPTHS, COMPLETE IN PLACE	LF	260	\$130.00	\$33,800.00
6	FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	8	\$7,150.00	\$57,200.00
7	2" BLOW-OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	5	\$400.00	\$2,000.00
8	PLUG AND CLAMP (ALL SIZES AND DEPTHS), COMPLETE IN PLACE	EA	5	\$275.00	\$1,375.00
9	TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF 3435 \$0.10		\$0.10	\$343.50
MON	TGOMERY COUNTY M.U.D. NO. 146B WATER ITEMS SUBTOTAL:				\$256,130.50
MON	TGOMERY COUNTY M.U.D. NO. 146B SANITARY SEWER ITEMS				
1	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8" CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	723	\$50.00	\$36,150.00
2	8° PVC SEWER PIPE, ASTM D-3034, SDR 26, 8° - 12° CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1108	\$52.00	\$57,616.00
3	8° PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	162	\$60.00	\$9,720.00
4	8° PVC SEWER PIPE, ASTM D-3034, SDR 26, 16' - 20' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1272	\$65.00	\$82,680.00
5	8° PVC SEWER PIPE, ASTM D-3034, SDR 26, 20' - 24' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	599	\$75.00	\$44,925.00
6	8° PVC SEWER PIPE, ASTM D-3034, SDR 26, 24' - 28' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	139	\$85.00	\$11,815.00
7	STANDARD 4' DIAMETER SANITARY SEWER MANHOLE (0' – 10' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	9	\$3,900.00	\$35,100.00
8	STANDARD 5' DIAMETER SANITARY SEWER MANHOLE (10' - 20' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	16	\$6,000.00	\$96,000.00

Page 7 of 11 FRN F-1386
LIA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024 LJA ENGINEERING, INC.
A. GUIJOSA AUGUST 30, 2024 3141-3001 & 3141-3002 (9.2)

4) R CONSTRUCTION CIVIL, LLC

				4) 10 0010111001101	V CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
9	EXTRA DEPTH FOR 5' DIAMETER SANITARY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PLACE	VF	143	\$540.00	\$77,220.00
10	STANDARD 6' DIAMETER SANITARY SEWER MANHOLE (20' + DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	9	\$8,150.00	\$73,350.00
11	EXTRA DEPTH FOR 6' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	155	\$650.00	\$100,750.00
12	"SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, STACK, WYE, PLUG, MARKER, ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	6	\$1,700.00	\$10,200.00
13	STANDARD SANITARY SEWER DROP CONNECTION (ALL DEPTHS), COMPLETE IN PLACE	EA	2	\$450.00	\$900.00
14	ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, INCLUDES CEMENT STABILIZED SAND BACKFILL, COMPLETE IN PLACE	EA	2	\$1,000.00	\$2,000.00
15	TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	4003	\$0.10	\$400.30
16	8" PVC FORCEMAIN, AWWA C-900, DR-18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	2414	\$40.00	\$96,560.00
17	2" AIR RELEASE VALVE ASSEMBLY FOR SANITARY SEWER INCLUDES SERVICE MANHOLE, VENT PIPING, COMPLETE IN PLACE	EA	2	\$11,000.00	\$22,000.00
18	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	2414	\$0.10	\$241.40
19	8" PLUG AND CLAMP (ALL DEPTHS), COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00
MONT	GOMERY COUNTY M.U.D. NO. 146B SANITARY SEWER ITEMS SUBTOTAL:				\$758,627.70
MON	GOMERY COUNTY M.U.D. NO. 146B STORM SEWER ITEMS				
1	$24^{\circ}$ RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1655	\$90.00	\$148,950.00
2	30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	882	\$118.00	\$104,076.00
3	36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	215	\$155.00	\$33,325.00
4	54" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	270	\$330.00	\$89,100.00
5	5'X4' R.C. BOX STORM SEWER, ASTM C-1433, INCLUDING ANY BENDS, ALL DEPTHS, COMPLETE IN PLACE	LF	296	\$475.00	\$140,600.00
6	5'X5' R.C. BOX STORM SEWER, ASTM C-1433, INCLUDING ANY BENDS, ALL DEPTHS, COMPLETE IN PLACE	LF	203	\$510.00	\$103,530.00
7	STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, INCLUDES FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	25	\$3,800.00	\$95,000.00
8	STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	4	\$6,000.00	\$24,000.00

Page 8 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024
LJA ENGINEERING, INC.
A. GUIJOSA
AUGUST 30, 2024
3141-3001 & 3141-3002 (9.2)

# 4) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
9	REINFORCED CONCRETE JUNCTION BOX WITH TYPE "C" MANHOLE TOP, COMPLETE IN PLACE	EA	2	\$21,000.00	\$42,000.00
10	MANHOLE TOP FOR BOX CULVERT, COMPLETE IN PLACE	EA	2	\$2,800.00	\$5,600.00
11	STAGE I - STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C"), ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	20	\$2,175.00	\$43,500.00
12	STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	20	\$2,900.00	\$58,000.00
13	STAGE I - STANDARD 15' REINFORCED CONCRETE PRECAST INLET ("C"), ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	4	\$2,175.00	\$8,700.00
14	STAGE II – STANDARD 15' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	4	\$2,800.00	\$11,200.00
15	PRECAST OR CAST IN PLACE STAGE 1 AND STAGE 2 TXDOT AREA ZONE DRAIN STYLE "FG" 4'X4', COMPLETE IN PLACE	EA	1	\$3,300.00	\$3,300.00
16	8" BRICK PLUG, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	EA	1	\$650.00	\$650.00
17	18" THICK RIP RAP PER DETAILS IN CONSTRUCTION PLANS, COMPLETE IN PLACE	SY	27	\$185.00	\$4,995.00
18	PRECAST SAFETY END TREATMENT PER TXDOT STANDARDS, 6:1 SLOPE, COMPLETE IN PLACE	EA	2	\$2,600.00	\$5,200.00
19	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	3521	\$0.10	\$352.10
MONT	TGOMERY COUNTY M.U.D. NO. 146B STORM SEWER ITEMS SUBTOTAL:				\$922,078.10
	TGOMERY COUNTY M.U.D. NO. 146B STORM SEWER ITEMS SUBTOTAL: TGOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS				\$922,078.10
MON		EA	1	\$1,500.00	\$922,078.10 \$1,500.00
<b>MON</b> 1	TGOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE,	EA LS	1	\$1,500.00 \$30,000.00	
<b>MON</b> 1 2	TOOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS  STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE  UTILITY SPOILS (ESTIMATED QUANTITY OF 6.250 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE				\$1,500.00
1 2 3	TOOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS  STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE  UTILITY SPOILS (ESTIMATED QUANTITY OF 6,250 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE  STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY	LS	1	\$30,000.00	\$1,500.00 \$30,000.00
1 2 3 4	TOOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS  STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE  UTILITY SPOILS (ESTIMATED QUANTITY OF 6,250 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE  STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE  FURNISH PERFORMANCE, PAYMENT AND MAINTENANCE BONDS PER CONTRACT	LS	1	\$30,000.00 \$2,500.00	\$1,500.00 \$30,000.00 \$2,500.00
3 4 5	STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE  UTILITY SPOILS (ESTIMATED QUANTITY OF 6,250 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE  STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE  FURNISH PERFORMANCE, PAYMENT AND MAINTENANCE BONDS PER CONTRACT DOCUMENTS, COMPLETE IN PLACE  EXTRA CEMENT STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED	LS LS	1 1	\$30,000.00 \$2,500.00 \$25,000.00	\$1,500.00 \$30,000.00 \$2,500.00 \$25,000.00
3 4 5 6	STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE  UTILITY SPOILS (ESTIMATED QUANTITY OF 6,250 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE  STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEO PERMIT, COMPLETE IN PLACE  FURNISH PERFORMANCE, PAYMENT AND MAINTENANCE BONDS PER CONTRACT DOCUMENTS, COMPLETE IN PLACE  EXTRA CEMENT STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED ONLY AT THE DIRECTION OF ENGINEER), COMPLETE IN PLACE	LS LS CY	1 1 10	\$30,000.00 \$2,500.00 \$25,000.00 \$45.00	\$1,500.00 \$30,000.00 \$2,500.00 \$25,000.00
3 4 5 6 7	STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE  UTILITY SPOILS (ESTIMATED QUANTITY OF 6,250 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE  STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE  FURNISH PERFORMANCE, PAYMENT AND MAINTENANCE BONDS PER CONTRACT DOCUMENTS, COMPLETE IN PLACE  EXTRA CEMENT STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED ONLY AT THE DIRECTION OF ENGINEER), COMPLETE IN PLACE	LS LS CY LF	1 1 10 2500	\$30,000.00 \$2,500.00 \$25,000.00 \$45.00 \$30.00	\$1,500.00 \$30,000.00 \$2,500.00 \$25,000.00 \$450.00

Page 9 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024
LJA ENGINEERING, INC.
A. GUIJOSA
AUGUST 30, 2024
3141-3001 & 3141-3002 (9.2)

4) R CONSTRUCTION CIVIL, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
10	EXTRA COST OF SANITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	1	\$20.00	\$20.00
11	EXTRA COST OF STORM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$25.00	\$2,500.00
12	EXTRA COST OF WET SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	100	\$50.00	\$5,000.00
13	EXTRA HYDRO-MULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,500.00	\$1,500.00
14	EXTRA BROADCAST SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$650.00	\$650.00
15	EXTRA REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.50	\$250.00
16	EXTRA FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.50	\$250.00
17	EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$60.00	\$60.00
18	DUST CONTROL, INCLUDES PROCUREMENT OF WATER, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00
MON	TGOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS SUBTOTAL:	-			\$167,980.00
MON	TGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS				
1	ROADWAY, ROW AND LOT EXCAVATION, INCLUDES FINAL GRADING, COMPLETE IN PLACE	CY	3700	\$1.85	\$6,845.00
2	ROADWAY, ROW AND LOT EMBANKMENT, INCLUDES REMOVAL OF UNSUITABLE MATERIAL BEFORE PLACING FILL, DEMUCKING AS NEEDED, STRIPPINGS, PROOF ROLLING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, REAPPLICATION OF STRIPPINGS, AND FINAL GRADING, COMPLETE IN PLACE	CY	3700	\$2.75	\$10,175.00
3	6° REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	12398	\$62.50	\$774,875.00
4	6" STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	13996	\$3.50	\$48,986.00
5	HYDRATED LIME FOR STABILIZED SUB-GRADE (16 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	112	\$380.00	\$42,560.00
6	FLY ASH FOR STABILIZED SUB-GRADE, (42 LB PER SQUARE YARD) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	294	\$160.00	\$47,040.00
7	PROPOSED PAVING HEADER, COMPLETE IN PLACE	LF	84	\$25.00	\$2,100.00
8	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	715	\$4.40	\$3,146.00
9	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	6267	\$4.40	\$27,574.80
10	ADA COMPLIANT TYPE 7 CONCRETE CURB RAMP PER DETAIL, INCLUDES TRUNCATED DOME PAVERS, COMPLETE IN PLACE	EA	10	\$2,800.00	\$28,000.00

Page 10 of 11 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE WILDTREE SECTION 1 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146B CITY OF MONTGOMERY, MONTGOMERY COUNTY, TEXAS AUGUST 29, 2024
LJA ENGINEERRING, INC.
A. GUIJOSA
AUGUST 30, 2024

# 4) R CONSTRUCTION CIVIL, LLC

3141-3001 & 3141-3002 (9.2)

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
11	PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$8,500.00	\$8,500.00
12	INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	3	\$1,300.00	\$3,900.00
13	1-1/2" ASPHALTIC CONCRETE PAVEMENT, TYPE D, PER TXDOT STANDARD DETAILS, INCLUDES 6" CEMENT TREATED BASE, COMPLETE IN PLACE	SY	405	\$70.00	\$28,350.00
14	CONNECTION TO EXISTING ASPHALT CONCRETE PAVEMENT, INCLUDING 2' SAW CUT, FULL DEPTH OF EXISTING PAVEMENT FOR FM 1486 CONNECTION, INCLUDES REMOVAL AND DISPOSAL OF EXISTING PAVEMENT, SUGRADE AND DISPOSAL FEES, COMPLETE IN PLACE	LF	130	\$50.00	\$6,500.00
15	TEMPORARY TRAFFIC CONTROL FOR PAVEMENT CONNECTION AT INTERSECTION OF WILDTREE DRIVE AND FM 1486, COMPLETE IN PLACE	LS	1	\$3,000.00	\$3,000.00
16	EXTRA SIGN, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00
17	6° PVC SLEEVES, SCHEDULE 40, UNDER PROPOSED PAVEMENT, PER DETAIL ON SHEET 3, COMPLETE IN PLACE	LF	373	\$65.00	\$24,245.00
18	BLUE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	8	\$20.00	\$160.00
19	STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00
20	CLEARING AND GRUBBING, CLEARED MATERIAL TO BE HAULED OFFSITE, AND SUBMITTAL OF SCALE TICKETS TO ENGINEER WITH PAY APPLICATIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00
21	REGRADING OF TXDOT DITCH, COMPLETE IN PLACE	LF	300	\$10.00	\$3,000.00
22	KEYSTONE HARDSCAPES CARRIAGE STONE BRICK PAVERS, AS SHOWN ON SHEET 29 OF THE CONSTRUCTION PLANS, INCLUDES PAVE STONES, SAND FILLED JOINTS, SAND AND BASE, COMPLETE IN PLACE	SF	2000	\$12.50	\$25,000.00
23	PRE-CAST OR CAST IN PLACE HEADWALL FOR 30" RCP WITHIN ESPANADE OF WILDTREE DRIVE, INCLUDES SEAL SLAB, AND BEDDING AND BACKFILL, COMPLETE IN PLACE	EA	2	\$3,500.00	\$7,000.00
24	METAL BEAM GUARD FENCE, PER TXDOT DETAILS, COMPLETE IN PLACE	LF	70	\$350.00	\$24,500.00
25	ADDITIONAL COST TO EXTEND ADA COMPLIANT TYPE 7 RAMP TO 8' WIDTH, COMPLETE IN PLACE	EA	6	\$950.00	\$5,700.00
MON	GOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS SUBTOTAL:				\$1,140,456.80
BIDD	NG SUMMARY				
SUBT	OTAL MONTGOMERY COUNTY M.U.D. NO. 146B WATER ITEMS				\$256,130.50
SUBT	OTAL MONTGOMERY COUNTY M.U.D. NO. 146B SANITARY SEWER ITEMS				\$758,627.70
SUBT	OTAL MONTGOMERY COUNTY M.U.D. NO. 146B STORM SEWER ITEMS				\$922,078.10
SUBT	OTAL MONTGOMERY COUNTY M.U.D. NO. 146B MISCELLANEOUS WS&D ITEMS				\$167,980.00
TOTA	L AMOUNT BASE BID				\$2,104,816.30
MON	TGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS				
TOTA	L AMOUNT BASE BID				\$2,104,816.30
	OTAL MONTGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVING ITEMS				\$1,140,456.80
TOTA	L AMOUNT INCLUDING MONTGOMERY COUNTY M.U.D. NO. 146B ALTERNATE PAVII				\$3,245,273.10

Page 11 of 11 FRN F-1386 LJA Engineering, Inc.